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Estimating Capacity (American) Name:
Determine which letter best representsthe volume. Answers
/ Cup Pint Quart Gallon \
A cup is about the amount of A pint is about the amount you A quart is about the amount A gallonisthe amount that
milk you get from the cafeteria. getinalarge glass. you get in alarge milk comesin the large plastic 1
1 pint = 2 cups container. container.
1 quart = 2 pints 1 gallon = 4 quarts
2.
3.
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Sand awheel barrow holds Ink in apen Ice Chest 7
A. 45 gallons A. lgdlon A. 2 quarts
B. 1000 grams B. 1 quart B. 5gallons 8
C. 8 quarts C. 2 pints C. 100 quarts '
D. 4 cups D. lessthan 1 cup D. 16 cups 9
4) 5) ®> 6)
Ketchup in a packet Liquid in apitcher Measuring Cup
A.lessthan 1 cup A. 2 quarts A.lcup
B. 2 quarts B. 1 pint B. 1 quart
C. 0.5gdlons C. 2 cups C. 1pint
D. 1.5 pints D. 8 galons D.1gdlon
7) - 8) 9)

Shampoo in a bottle Sodain acan Liquid in athermos
A. 2 pints A.1lgallon A. 2 pounds

B. 0.5gallons B. 4 pints B.1galon
C.1lcup C. 4 cups C.1lcup

D. 100 cups D. 1.5 cups D. 4 quarts
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Estimating Capacity (American) Name. Answer Key
Determine which letter best representsthe volume. Answers
/ . Cup o Pint . Quart .Gallon \
A cup is about the amount qf A pintis z?\bout theamount you A quartis {about the anjount A galloh is the amount that A
milk you get from the cafeteria. getinalarge glass. you get in alarge milk comesin thelarge plastic 1
1 pint =2 cups container. container.
1 quart = 2 pints 1 gallon = 4 quarts
2. D
3 C
Millk Millk
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6. A
Sand awheel barrow holds Ink inapen Ice Chest 7 A
A. 45 gallons A. lgdlon A. 2 quarts
B. 1000 grams B. 1 quart B. 5gallons 8 D
C. 8 quarts C. 2 pints C. 100 quarts
D. 4 cups D. lessthan 1 cup D. 16 cups 9 C
4) 5) <i>> 6)
Ketchup in a packet Liquid in apitcher Measuring Cup
A.lessthan 1 cup A. 2 quarts A.lcup
B. 2 quarts B. 1 pint B. 1 quart
C. 0.5gdlons C. 2 cups C. 1pint
D. 1.5 pints D. 8 galons D.1gdlon
7) - 8) 9)
Shampoo in a bottle Sodain acan Liquid in athermos
A. 2 pints A.1lgallon A. 2 pounds
B. 0.5gallons B. 4 pints B.1galon
C.1lcup C. 4 cups C.1lcup
D. 100 cups D. 1.5 cups D. 4 quarts
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